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  8 9 0´7 0 4 

     7 9´8 6 5 

  8 1 0´8 3 9 

  2 4 6´7 8 2 

  1 9 8´9 6 7 

  0 4 7´8 1 5 

 1 2.3 6 4´2 8 

    7.5 7 6´1 8 6 

 0 4.7 8 8´0 9 4 

 2 5.0 7 3´2 

    9.6 8 6´1 7 5 

 3 4.7 5 9´3 7 5 

 7.6 4 2´7 

 2.7 6 5´5 6 2_ 

 4.8 7 7´1 3 8 

 7.8 0 4´4 2 

 3.1 6 7´8 6  

 4.6 3 6´5 6 

7.8 0 9  

6.7 2 6´2 8 5 

1.0 8 2´7 1 5 

 5 0´8 0 1 

 4 9´9 7 2  

 0 0´8 2 9 

                             SEXTO de Primaria 

                                               ____ Restas con decimales ____ 

                                              

 

Solución ___________________________________________________________________________ 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

890´704 – 79´865 = 810´839 246´782 – 198´967 = 47´815 

12.364´28 – 7.576´186 = 4.788´094 

7.804´42 – 3.167´86 = 4.636´56 

7.809 – 6.726´285 = 1.082´715 50´801 – 49´972 = 0´829 

7.642´7 – 2.765´562 = 4.877´138 

25.073´2 – 9.686´175 = 34.759´375 
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